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SOH-CAH-TOA Word Problems

Goal: Solve trigonometric equations
from a word problem scenario.
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= 3. Aplane takes off and climbs at a constant angle with the ground.

- Ifthe plane has traveled 500 ft ground distance and is at an altitude of
: 1400 ft. What s t @ e plane is climbing at?
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sense? : 4. Albertis flying a kite, holding the string above his head at 6.5 feet. The
= kite's string is 80 ft long and is flying at a 72 angle. How high off the ground is
= Albert's kite?
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For each problem draw a picture, set up the

equation, and solve for the missing measure.

Round your answers to the nearest hundredth.
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= 1. If a building is 120 meters tall and the %Jn hagran angle of elevation of 34°,
= How long will the building's shadow be? O =
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E 2. Brad places a ladder next to a building to ge
= bottom of the ladder is placed 11 feet away from the building at an
= angle of 66°. How tall is the building?
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: 5. Jack and Jill are standing on top of a 200 foot tower
Start i overlooking a lake. From the tower, the angle of
St £ depression to a sailboat in the lake is 129 If they fall off the
apicturel * iower and then swim to the boat, how far will they have to
1 swim?

This is the type of problem you may see on the MCA test.

6. Captain Jack is standing on the top of a cliff and spies 2
ships out on the bay. The ships are 150 meters apart.
Barbosa on the closest ship looks up at an angle of 39°and
sees Captain Sparrow. His ship is 320 meters from the cliff.
What is the angle of elevation from the 2nd ship to the
Captain Jack Sparrow?

320 /rAn%";T{ZZDj: 35113

Mar 16-12:41 PM

Assignment:

Trig Word problems worksheet
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